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NEAL BANE 4 oA [ic} GROSS | HDCP | NET % NEHL BINEL Gl [} GROSS | HDCP_ | NET ik
oIl EAE 44 44| 10.8] 33.2 41 i | ALBFE 5LE 40 40 2.4 37.6
KE I 41 41 7.2] 33.8 42 fir |/NEETR e 46 46 8.4 37.6
EE 15+ 41 41 7.2] 33.8 43 fir| kA F= 46 46 8.4| 37.6
\Hi FE 40 40 6.0/ 34.0 44 fip} =il ER 46 46 8.4| 37.6
NS R 46 461 12.0] 34.0 45 (L JRAR FHR 52 52| 14.4| 37.6
R BRSE 44 44 9.6| 234.4 46 fif | A B 39 39 1.2| 37.8
LR T 49 49| 14.4| 34.6 47 i | B - 45 45 7.21 37.8
AL A 36 36| 1.2] 34.8(BG) 48 {ir | Wk KT 45 45| 7.2] 37.8
M@ ZIE 42 42 7.2 34.8 49 {7 | B b AT 45 45 7.2| 37.8
L fHGE 40 40| 4.8] 352 R IILEIN 44 44| 6.0| 38.0
BEE ZIE 46 46| 10.8| 35,2 51 fii | W7 B 44 44 6.0] 38.0
12 {if |¥m —H| 46 46| 10.8| 35.2 52 {if | {9} fif 44 44 6.0/ 38.0
13 i | SME F1T 39 39 3.6| 35.4 53 i |/ S 50 50| 12.0| 38.0
14 i | /NERL &2 B 45 45 9.6| 35.4 54 fif | §%)1] tH2E 43 43 4.8| 38.2
15 fo| )\ ik 44 44| 8.4| 356 65 _{i| #him 43 43| 4.8 38.2
16 i | 158 —= 44 44 8.4| 35.6 56 fif | /NEL B 49 49| 10.8| 38.2
17 {7 |4 AHE 44 44 8.4| 356 57 fir | 324k Uk 49 49| 10.8| 38.2
18 {ir | #28H Fnak 44 44 8.4 356 58 L | 7K (B 42 42 3.6/ 38.4
19 iz | BAS iz 44 44 8.4| 356 59 i | /K Kilifi 42 42 3.6/ 38.4
(20 {ip| #Hh HEAE 50 50| 14.4| 35.6 (60| KA BT 45 45|  6.0] 39.0
21 {i | T i fEH 37 37 1.2| 35.8 61 fir | A #EA 45 45 6.0/ 39.0
Qz @ W7 Ry 43 43 7.2| 35.8 62 i | Afk ¥ 45 45 6.0] 39.0
23 L | ¥ ¥E 43 43 7.2| 35.8 63 i | HEFY ik 51 51 12.0| 39.0
24 {iL | db#t == 42 42 6.0 36.0 64 fir | FFIR T 44 44 4.8| 39.2
(25_{ir/| Wik T 40 40 3.6| 36.4 65 i | IR 1= 49 49 9.6| 39.4
26 fir | EUF 46 46 9.6| 36.4 Ol EHE 51 51| 10.8| 40.2
27 fir | B 1% 39 39 2.4| 36.6 67 i | AEXRAY SERL 48 48 7.2| 40.8
28 fir | b/ fREL 45 45 8.4| 36.6 68 fif | §EiF IEE 72 72| 31.2] 40.8
‘{@ 59 o)l A Ef 14 4| 7.2 36.8 B__B| A s 45 45| 3.6| 414
3071 BE W 37 37| 0.0] 37.0 B M|%EE 57 57| 15.6| 41.4
a1 fir | = ER 43 43 6.0/ 37.0
32 i | Ehif —¥K 49 49| 12.0| 37.0
| @3 R KE 42 42| 4.8 37.2
34 v | &HH B 42 42 4.8| 371.2
Qs (Tl =& 3wt 48 48| 10.8| 37.2
36 i | HF 55 48 48| 10.8| 37.2
37 fr e R B— 48 48| 10.8| 37.2
38 fir | =i 41 41 3.6| 37.4
39 i | Mg EF 47 47 9.6| 37.4
40 (] Lt B =RR 40 40| 2.4 37.6




